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1. If 𝑝, 𝑞, 𝑟, 𝑠 ∈ 𝑁 and they are four consecutive terms of 
an A.P., then 𝑝th, 𝑞th, 𝑟th and 𝑠th terms of a G.P. are in 
 a) A.P. b) G.P. c) H.P. d) None of these 
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3. If 𝑎1, 𝑎2, 𝑎3, … , 𝑎𝑛 are in  AP, where 𝑎𝑖 > 0 for all 𝑖, then value of 
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4. If 𝑦 = 2𝑥2 − 1, then 
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5. The interior angles of a polygon are in AP. If the smallest angle be 120° and the common difference be 
5, then the number of side is 
 a) 8 b) 10 c) 9 d) 6 
 

6. If log𝑥(4𝑥log5 𝑥 + 5) = 2 log5 𝑥, then 𝑥 equals to 

 a) 4, 5 b) −1, 5 c) 4, −1 d) 5,
1

5
 

 

7. Let 𝑎, 𝑏, 𝑐 be in AP. If 0 < 𝑎, 𝑏, 𝑐 < 1, 𝑥 = ∑ 𝑎𝑛∞
𝑛=0 , 𝑦 = ∑ 𝑏𝑛∞

𝑛=0 and 𝑧 = ∑ 𝑐𝑛∞
𝑛=0 , then 

 a) 2𝑦 = 𝑥 + 𝑧 b) 2𝑥 = 𝑦 + 𝑧 c) 2𝑧 = 𝑥 + 𝑦 d) 2𝑥𝑧 = 𝑥𝑦 + 𝑦𝑧 
 

8. If 𝑥
3

2
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8
, then 𝑥 equals to 

 a) 2 b) 3 c) 5 d) 6 
 
9. If every terms of a GP with positive terms is the sum of its two previous terms, then the common ratio 
of the series is  

 a) 1 b) 
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2
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10. If 𝑛1, 𝑛2, 𝑛3, … , 𝑛100 are positive real numbers such that 𝑛1 + 𝑛2 + 𝑛3+. . . +𝑛100 = 20 
And  𝑘 = 𝑛1(𝑛2 + 𝑛3 + 𝑛4)(𝑛5 + 𝑛6+. . . +𝑛9)(𝑛10+. . . +𝑛16) … (. . +𝑛100),  then 𝑘 belongs to 
 a) (0, 100] b) (0, 128] c) [0, 144] d) None of these 
 
11. If 𝑎, 𝑏, 𝑐 are in AP, then the straight line 𝑎𝑥 + 𝑏𝑦 + 𝑐 = 0 will always pass through the point 
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 a) (−1, −2) b) (1, −2) c) (−1, 2) d) (1, 2) 
 

12. If 
𝑒𝑥

1−𝑥
= 𝐵0 + 𝐵1𝑥 + 𝐵2𝑥2 + ⋯ + 𝐵𝑛𝑥𝑛 + ⋯, then 𝐵𝑛 − 𝐵𝑛−1 equals 
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13. If  
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=
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(𝑥 ≠ 0), then 𝑎, 𝑏, 𝑐, 𝑑 are in 

 a) AP b) GP c) HP d) None of these 
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15. Jairam purchased a house in Rs 15000 and paid Rs 5000 at once. Rest money he promised to pay in 
annual installment of Rs 1000 with 10% per annum interest. How much money is to be paid by Jairam? 
 a) Rs 21555 b) Rs 20475 c) Rs 20500 d) Rs 20700 
 

16. If 𝑎, 𝑏, 𝑐 are in A.P., then 𝑎 +
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, 𝑏 +
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 a) A.P. b) G.P. c) H.P. d) None of these 
 
17. The sum of the series 
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18. The sum of the series 
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19. The sum of the infinite series (
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20. Let 𝑇𝑟 , be 𝑟th term of an AP whose first term is 𝑎 and common difference is 𝑑. If for some 

positive integers 𝑚, 𝑛, 𝑚 ≠ 𝑛, 𝑇𝑚 =
1

𝑛
and 𝑇𝑛 =
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